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7 100kN/ Mm% Z % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Fhst 1.00 | 0.00 ~ 6.90 87.39 | =nLs | 000 ~ 690 1.90 10.15 FhLst 1.00 | 5.00 ~ 890 87.39 | #nst | 500 ~ 890 | 1.90 10.156
2 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Zhst 1.00 | 0oo ~ 577 72.18 | #hs | 0oo ~ 577 1.95 10.42 Zhst 1.00 | 5.00 ~ 7.05 7218 | EhSY | 5,00 ~ 7.05)| 1.95 10.42
3 100kN/ Mm% Z 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
ZFhst 1.00 | 000 ~ 680 86.02 | #hst 000 ~ 680\ 1.77 9.45 Fhst 100|500 ~ 830 86.02 | #Fnst | 500 ~ 830\ 1.77 9.45
p 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Zhst 1.00 | 0.oo ~ 706 89.64 | TnLs | 000 ~ 706 1.95 10.41 Zhst 1.00 | 5.00 ~ 9.56 89.64 | =nst | 500 ~ 956 | 1.95 10.41
5 100kN/ Mm% Z 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Fhst 1.00 | 0ooo ~ 723 91.95 | =nLs | 000 ~ 723 1.94 10.59 Zhst 1.00 | 6.00 ~ 9.91 91.95 | #hst | 500 ~ 9.91| 1.94 10.39
P 100kN/mM%EBZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Zhst 1.00 | 000 ~ 739 94.52 | =nLs | 000 ~ 739 1.83 977 Zhst 1.00 | 5.00 ~ 9.66 94.52 | =nhst | 500 ~ 9.66| 1.83 977
- 100kN/ Mm% Z 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Tt 1.00 1 0.00 ~ 6.94 87.97 | =hLs | 000 ~ 000 1.70 9.09 FhLst 1.00 | 6.00 ~ 867 87.97 | =hs | 5,00 ~ 867 | 1.70 9.09
3 100kN/mMZ#2Z % — - ~ — —|3mEEZB| — ~ — — — | 100kN/mM%#BZ % — - ~ — — |3mE{BZ B -~ — — —
zhst 1.00 | 000 ~ 723 91.96 | #0000 ~ 7.23| 1.86 9.94 zhs 1.00 | 5.00 ~ 940 91.96 | #hst | 5,00 ~ 9.40| 1.86 9.94
100kN/mMZ#2Z % ~ ImEBRD ~ 100kN/ MZ#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/M%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Thst ~ Thst ~ ZThst ~ Zh s ~




